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In the fxptTinKtital (Icttrmination of the discharge curve the
fol!(i\\ inj; vahios were used :

C, = to "farad.

(': = -27 (10)-" farad (capillary Xo. 12).

I. = -81 henric?.

R, = 100 ohm.
K: = 1/1000 ohm (capillary Xo. 12, approximate value).

Co was measured by the method already outlined and is the value
for zero difference' in potential. The resistance was determined from
the discharge cur\-c as explained later.

The / equation becomes
/' + 150, 3/=+ 1,2.^8,700 A + 26,741,000 = (12)

Trial shews one root to Ih' -21-64, and the resulting equation yields
the roots -()+•.?.? ± lllOi

so th.it ('. = -64- 3.?

7-
and tlu- |ii ri(.(l ~ = -OO.^OO

3

,S = 1110.

(13)

Ihe piiiod oht.iin<'d by exix'rimeiit is '00567 sec.

Wf iii.iN now dvlcniune the const, luts of intei;ration,

for wh( n t =; (1 ().
<lo

ll

= 0, q, y, and '-^'-' =
dt

of which oiu- i~ r. ihnidaiit.

Take a + A = f),

.1 /. -f (' .A + ;V n = 0. and
a A- + u- A -*- 2 „ ,i B - d- A =

>olviiu; ,ind snb.stiliilini; values, we have
a = 1 00188 O..

1

A = -('/•00188 O;
H = 0.0194 O,

and 4> =tan ' 10-32 = -84'''28'

0) =tan ' 23<>3 = 87'' 48'

<A' = lan ' 05816 = 3, "19

Ue ma\ obt.iin i\.< ex|Krinientally by inserting Kj at z, q, by inserting
at \ and (|i f fj, b\ inserting at x (Fig. 2)

(14)

Sine< (),. = *:(),

C.
27Q,

qi+<i.=<Ji ') (15)
-21 (i4t -64 33t/'9938cos 1110t+'0633^

'\ -2715, + , V sin lUOt

If we use the capillar \ electrometer to indicate the potential

without determining (|, or (|j,we may insert key Kj at either z or x,

wh'Ti we obtain the potential (}f the electrometer at the instant of


